

۱
 آخرین عدد
 $(9)^2 = 81$
 آخرین عدد
 $(8)^2 = 64$
 دنباله: $\{45, 44, \dots, 81\}$
 $\frac{81 + 45}{2} = 126$

۲
 $\{1, 2, 3\}, \{3, \dots, 12\}, \{13, \dots, 39\}$
 $a_1 = 1, 12, 39$
 $+9 \quad +12 \quad +11 \quad +12$
 $\Rightarrow$ دنباله: $\{121, \dots, 393\}$
 $\frac{121 + 393}{2} = 257$

۳
 $a_0 = r^0 = 1$
 $a_1 = -r \times a_0 + r = r$
 $a_r = \left[\frac{r}{0+r} \right] + a = 1 + a$
 $S_1: r\omega + ra = 14 \rightarrow a = -r$
 $a_r + a_\omega + a_\lambda + \dots + a_{r9} = (-1) + (-1) + 0 + \dots + 0 = -2$
 $a_4 = r^2 = r$
 $a_9 = r^r = \lambda$
 $a_v = -r \times r + r = 0$
 $a_\lambda = \left[\frac{\lambda}{r+r} \right] + a = r + a$

۴
 $a_n = an^r + bn + c$
 $a_\omega = 14$
 $a_v = 14/r$
 $a \times \omega^r + b \times \omega + c = r\omega$
 $a \times v^r + b \times v + c = r^2 a + vb + c = 14/r$
 $a = \frac{1}{v} \times -14 = -\frac{14}{v} \Rightarrow r\omega - \frac{14}{v} + \omega b + c = 14 \Rightarrow \omega b + c = 14 \left\{ r^2 a + vb + c = 14/r \Rightarrow vb + c = 14/r \right.$
 $(vb + c) - (\omega b + c) = 14/r - 14 \Rightarrow vb = 14 \Rightarrow b = r \rightarrow \omega \times r + c = 14 \rightarrow c = -1$
 $a_1 = -\frac{1}{v} + r - 1 = r - 1/r$
 $a_{1\omega} = -\frac{1}{v} \times r\omega + r \times \omega - 1 = -\frac{r\omega}{v} + r\omega - 1 = 14 \Rightarrow \frac{a_{1\omega}}{a_1} = \frac{14}{r\omega - 1/r} = \omega$

۵
 $a_n = a_1 + (n-1)d$
 $t_n = bn + c$
 $a_r = tr \rightarrow a_1 + r^2 d = r^2 b + c$
 $a_\lambda = tv \rightarrow a_1 + v^2 d = vb + c$
 $a_1 + r^2 \times \frac{\omega b}{r} = r^2 b - 10b \rightarrow a_1 + \frac{10\omega b}{r} = -10b$
 $a_1 = -10b - \frac{10\omega b}{r} = -\frac{r^2 b}{r} - \frac{10\omega b}{r} = -\frac{r^2 + 10\omega}{r} b$
 $t_{1\omega} = bn + c = bn - 10b = b(n-10)$
 $t_{1\omega} = \frac{\omega b}{r} = \frac{r^2 + 10\omega}{r} b$
 $\frac{t_{1\omega}}{d} = \frac{\omega b}{r} = \frac{r^2 + 10\omega}{r} b$
 $\frac{t_{1\omega}}{d} = \frac{\omega b}{r} = \frac{r^2 + 10\omega}{r} b$
 $\frac{t_{1\omega}}{d} = \frac{\omega b}{r} = \frac{r^2 + 10\omega}{r} b$

$r(a+d)^r = d(a+rd)(a) + r(a+rd)(a)$ $ra^r + rd^r + r^2acd = da^r + lrad + r^2a^r + r^2acd$ $\frac{ra^r + r^2acd - da^r - r^2acd}{d^r} = 0 \rightarrow \frac{ra^r}{d^r} + \frac{a}{d} - r = 0$ $\frac{a^r}{d^r} + \frac{a}{d} - r = 0 \quad \left(\frac{a}{d} + r \right) \left(\frac{a}{d} - r \right)$ $\hookrightarrow \frac{a}{d} - r = -r \quad \frac{a}{d} = r$ $\frac{a}{d} = \frac{a+rd}{d} = \frac{a}{d} + r$ $1) -r + r = 1$ $2) \frac{r}{r} + r = \frac{r}{r} + \frac{r}{r} = \frac{r}{r} = 1$	✓
$\begin{matrix} a & b & c \\ \Rightarrow rb = a + c \end{matrix}$ $\begin{matrix} b & \frac{a}{r} & \frac{c}{r} \\ \Rightarrow \left(\frac{a}{r}\right)^r = b \times \frac{c}{r} \end{matrix}$ $\frac{a^r}{r} = \frac{bc}{r} \rightarrow a^r = bc$ $a^r = b(rb - a), rb^r - ab \quad a^r + ab - rb^r = 0$ $\Delta = 4b^r \sqrt{\Delta} = rb$ $a = -rb \quad c = rb$ $\Rightarrow b, -\frac{rb}{r}, \frac{rb}{r} \Rightarrow b, -b, b$ $q = -1 \quad rq = -r$	✓
$b^r = ac, \quad \frac{a}{r}, \frac{c}{r} \Rightarrow ra - rb, c - ra \Rightarrow ra - rb - c = 0$ $\left(\frac{a}{r} - rb - \frac{b^r}{a} = 0 \right) \quad \frac{ra^r - rab - b^r}{a^r} = 0 \quad q = \frac{b}{a} \Rightarrow r - r\left(\frac{b}{a}\right) - \left(\frac{b}{a}\right)^r = 0$ $r - rq - q^r = 0 \quad q + rq - r = 0 \quad (q+r)(q-1)$ $\frac{aq}{a^r} = \frac{aq^r}{a^r} = q^r(-r)^r = -r^r$	✓
$\frac{aq^r}{d^r q^r} + \frac{aq}{a^r} = r$ $\frac{q^r}{a^r} + \frac{q}{a} = r \rightarrow \frac{q^r}{a^r} + \frac{q}{a} - r = 0 \quad \left(\frac{q}{a} + r\right)\left(\frac{q}{a} - 1\right)$ $\frac{a^r}{aq} = \frac{q}{q} \left[\frac{1}{-1} \right]$	✓
$aq^r = \sqrt{aq^r} \quad aq^r = r^r$ $a^r q^r = aq^r \quad aq = 1$ $a \times r = 1 \quad a = \frac{1}{r}$ $\frac{1}{r} - \frac{1}{r} = \frac{r}{r} - \frac{r}{r} = \frac{1}{r}$	✓